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(HAL: BE . it (H/60kg) . HEEE%) (5%&)
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7 A 1) =IE ESPo a8 3 Kpr = = 455 @/@ AT @/@
BE 2] (hnE@ZFﬁJ) LTS | SEALEAS AHLERFTEHE EHEE ?a#%ﬁ% %) 3 %)
dtimE (PpEUMY 19,011 19,011 19,011 2,472.48 2,472.48 18,655 101.9 17,767 107.0
& (ZF 1255 18,996 18,996 18,996 777.60 777.60 18,641 101.9 17,753 107.0
JtifEE [£55397 19,491 19,491 19,491 5,865.84 5,865.84 19,127 101.9 18,216 107.0
= LohEY 20,690 20,690 20,690 486.00 486.00 20,303 101.9 19,336 107.0
= LOEFEFN 19,467 19,467 19,467 1,047.60 1,047.60 19,103 101.9 18,193 107.0
= DHBEED 20,954 20,954 20,954 432.00 432.00 20,562 101.9 19,583 107.0
AF |PY=Fx 21,912 22,231 21,530 4,924.80 4,924.80 21,369 102.5 20,777 105.5
B2F |HTIFESL 21,512 21,512 21,512 2,278.80 2,278.80 21,110 101.9 20,105 107.0
= v s e S 22,620 22,843 22,500 10,692.00 10,692.00 22,096 102.4 21,349 106.0
A |y =—iF 22,142 22,374 21,750 3,067.20 3,067.20 21,592 102.5 20,910 105.9
MAE |HEIFL 22,275 22,286 21,980 8,424.00 8,424.00 21,762 102.4 20,828 106.9
Wz | =% 21,574 21,791 21,490 3,618.00 3,618.00 21,051 102.5 20,365 105.9
1T} 7 [ oA} :{A 20,912 20,912 20,912 1,198.80 1,198.80 20,521 101.9 19,544 107.0
FER |y =iF 21,903 22,282 21,611 4,590.00 4,590.00 21,601 101.4 20,824 105.2
22 |aveAhY 23,049 23,067 22,980 4,201.20 4,201.20 22,378 103.0 21,558 106.9
EE |- F 21,889 21,889 21,889 2,635.20 2,635.20 21,391 102.3 20,457 107.0
5 |[WE 21,152 21,152 21,152 1,987.20 1,987.20 21,152 100.0 19,768 107.0
xR |avehHY 22,360 22,398 22,085 4,168.80 4,168.80 22,012 101.6 20,933 106.8
X |[FXEHY 22,235 22,235 22,235 1,188.00 1,188.00 21,772 102.1 20,780 107.0
WwA |aveny 22,137 22,322 22,010 8,715.60 8,715.60 21,577 102.6 20,862 106.1
mAR |#E 21,066 21,066 21,066 572.40 572.40 20,975 100.4 19,688 107.0
FE |(avehy 22,075 22,406 21,990 4,644.00 4,644.00 21,711 101.7 20,940 105.4
FE (w2 20,584 20,584 20,584 1,447.20 1,447.20 20,584 100.0 19,237 107.0
EH |[aveny 22,450 22,573 22,296 2,592.00 2,592.00 21,857 102.7 21,096 106.4
e |avehny 25,810 25,836 25,605 8,812.80 8,812.80 24,997 103.3 24,146 106.9
in  |BIRE&E 21,679 21,679 21,679 658.80 658.80 21,272 101.9 20,261 107.0
iin  |FRR&E 20,839 20,839 20,839 259.20 259.20 20,791 100.2 19,476 107.0
iE |REDFE 21,663 21,663 21,663 669.60 669.60 21,258 101.9 20,246 107.0
= = D 3 1 23,940 24,223 23,770 1,674.00 1,674.00 23,310 102.7 22,638 105.8
Bl |avehny 23,864 24,001 23,663 1,166.40 1,166.40 23,091 103.3 22,536 105.9
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RE E (ﬂﬂ%zlii’—l) st | mame | AURTHE ENHE ?a#%ﬁ*% %) 3 %)

itisE |wEVAMY 18,994 18,994 18,994 1,642.32 1,642.32 18,639 101.9 17,751 107.0
tisE |ZE1255 19,002 19,002 19,002 651.24 651.24 18,647 101.9 17,759 107.0
tEE |£55397 19,490 19,490 19,490 2,021.40 2,021.40 19,126 101.9 18,215 107.0
FH |([TorsY 20,753 20,753 20,753 291.60 291.60 20,365 101.9 19,395 107.0
B |LoEFFEN 19,360 19,360 19,360 399.60 399.60 18,998 101.9 18,093 107.0
BHE (0N EED 21,125 21,125 21,125 140.40 140.40 20,730 101.9 19,743 107.0
BEF |YY=F 21,868 22,189 21,800 496.80 496.80 21,774 100.4 20,737 105.5
BF |HEIFL 21,635 21,635 21,635 572.40 572.40 21,231 101.9 20,220 107.0
BE |z F 22,889 22,988 22,710 3,790.80 3,790.80 22,558 101.5 21,484 106.5
ME | =IF 22,062 22,300 21,900 1,414.80 1,414.80 21,883 100.8 20,841 105.9
MEA |HEFL 22,282 22,282 22,282 4,730.40 4,730.40 21,865 101.9 20,824 107.0
Wiz (=& 21,706 21,773 21,600 1,965.60 1,965.60 21,310 101.9 20,349 106.7
11572 [ 9AY0F - {A} 20,948 20,948 20,948 561.60 561.60 20,557 101.9 19,578 107.0
ER |5 =2F% 22,031 22,280 21,890 2,538.00 2,538.00 21,810 101.0 20,822 105.8
'8 |9=2 21,537 21,537 21,537 496.80 496.80 21,537 100.0 20,128 107.0
RE |[3vEAHY 22,680 22,680 22,680 766.80 766.80 22,256 101.9 21,196 107.0
E351 0= I b= D s 1) 25,579 25,579 25,579 6,328.80 6,328.80 25,242 101.3 23,906 107.0
wiR  |[MREL 21,593 21,593 21,593 313.20 313.20 21,212 101.8 20,180 107.0
e |BREALE 20,743 20,743 20,743 194.40 194.40 20,743 100.0 19,386 107.0
= 1V b= DA b 1Y 23,995 23,995 23,995 4,168.80 4,168.80 23,359 102.7 22,425 107.0
|l |3vERY 23,954 23,971 23,761 2,268.00 2,268.00 23,294 102.8 22,403 106.9
Al |(EREUVHY 21,603 21,603 21,603 648.00 648.00 21,603 100.0 20,190 107.0
BH |[aiERY 24,037 24,050 23,850 3,272.40 3,272.40 23,225 103.5 22,477 106.9
IFE  |/\VWIE 21,788 22,097 20,993 1,004.40 1,004.40 21,684 100.5 20,651 105.5
=F |avkeny 22,490 22,490 22,490 2,440.80 2,440.80 22,120 101.7 21,019 107.0
#E  |aikehY 22,656 22,656 22,656 2,862.00 2,862.00 22,252 101.8 21,174 107.0
HE =P:N 20,530 20,530 20,530 1,749.60 1,749.60 20,146 101.9 19,187 107.0
EE |[aikERHY 23,446 23,769 23,200 831.60 831.60 22,637 103.6 22,304 105.1
EE |[HXE 20,469 20,469 20,469 982.80 982.80 20,469 100.0 19,130 107.0
|3\ S b= D b3 1| 22,862 22,862 22,862 712.80 712.80 22,668 100.9 21,366 107.0
S |v<ERHY 20,583 20,583 20,583 507.60 507.60 20,198 101.9 19,236 107.0
BiR |3veny 23,326 23,326 23,326 1,933.20 1,933.20 22,829 102.2 21,800 107.0
e |vwveRy 20,658 20,658 20,658 496.80 496.80 20,272 101.9 19,307 107.0
Fll_ |[avERHY 22,426 22,426 22,426 507.60 507.60 21,885 102.5 20,959 107.0
gfE |3 ERY 22,910 23,023 22,550 496.80 496.80 22,127 103.5 21,517 106.5
gfE |IRT7HE 20,976 20,976 20,976 496.80 496.80 20,670 101.5 19,604 107.0
EfE |eE/ERY 21,127 21,127 21,127 496.80 496.80 20,732 101.9 19,745 107.0
A& aveHY 22,861 22,861 22,861 496.80 496.80 22,302 102.5 21,365 107.0
X |E/EHY 21,468 21,468 21,468 496.80 496.80 21,067 101.9 20,064 107.0




